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Questions

1.Find /sec:z:(seca: + tanx)dz.

o Watch Video Solution

2. Evaluate the following integrals : /(1 —z)\/zdr

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_L5wEc0m3wcDe
https://dl.doubtnut.com/l/_uLWkYwphI3TJ

dz
3. Evaluate: [——
V1— g2

° Watch Video Solution

4. Evaluate the following integrals:

/(sec2 z)dx

cos ec’x

° Watch Video Solution

-1

etan x
5. Evaluate/ dx
1+ z2

° Watch Video Solution

— 3sinx
6.Evaluate | ————dzx
cos? x

o Watch Video Solution



https://dl.doubtnut.com/l/_67d2zGwqDJ3r
https://dl.doubtnut.com/l/_aO4yRZWuz5TO
https://dl.doubtnut.com/l/_eYrWPpiB5KaD
https://dl.doubtnut.com/l/_lyWP30eS86mz

7.1f (i)f(:c) = 43 — 3 such that f(2) = 0.Then f(z) is
dx zt

o Watch Video Solution

8. Evaluate : /can zdzr.

o Watch Video Solution

9, Evaluate /cot zdz.

o Watch Video Solution

10. Evaluate /sec zdx.

o Watch Video Solution



https://dl.doubtnut.com/l/_lyWP30eS86mz
https://dl.doubtnut.com/l/_ql0znMQaSon8
https://dl.doubtnut.com/l/_JTHCWQu1acGX
https://dl.doubtnut.com/l/_W4m0FxbEVLYh
https://dl.doubtnut.com/l/_IgWw5ghBjZQ9
https://dl.doubtnut.com/l/_gAahIhOZnZ9O

11. Evaluate /coseca:da:.

o Watch Video Solution

1+ logx 2
12. Evaluate /#dm

o Watch Video Solution

sinzx
13. Evaluate /_—d:r:.
sin(z + a)

° Watch Video Solution

14. Evaluate /2a: sin(:r:2 + 1) dzx.

o Watch Video Solution



https://dl.doubtnut.com/l/_gAahIhOZnZ9O
https://dl.doubtnut.com/l/_YPOsJzu6VmDP
https://dl.doubtnut.com/l/_WQEF8HvYo4vw
https://dl.doubtnut.com/l/_aMgTCZv9X94n
https://dl.doubtnut.com/l/_Tjm4h7P5dDma

15. Evaluate fn(log z)da.

o Watch Video Solution

16. Evaluate /sin x sin(cos x)dx.

o Watch Video Solution

17. Evaluate fc2 log zdz.

o Watch Video Solution

18. Evaluate /4:13 + 2 \/:13 + z + ldzx.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tjm4h7P5dDma
https://dl.doubtnut.com/l/_PAzN7ojN948f
https://dl.doubtnut.com/l/_pxZGxXqwcFLi
https://dl.doubtnut.com/l/_orSp210mz83X

19. Evaluate /(sin_ 1 :1:) 2d33

o Watch Video Solution

e — 1
20. Evaluate / dx.
e2r +1

° Watch Video Solution

T sec \/x
dx
NE

L tan?
21. Evaluate the following integrals :

o Watch Video Solution

22.Evaluate /cot z log(sinz)dzx.

o Watch Video Solution



https://dl.doubtnut.com/l/_Im458LUNbeEe
https://dl.doubtnut.com/l/_P4XbzJKEqSIU
https://dl.doubtnut.com/l/_a0PnSLqfRIzB
https://dl.doubtnut.com/l/_mMCmGRPAu49O
https://dl.doubtnut.com/l/_L9CLxkckI0sb

1
23.Evaluate [———dx
1+ cotx

° Watch Video Solution

vitanz
— dx.

24, Evaluate -
sinx cos x

o Watch Video Solution

in(tabn_1 az)
25. Evaluate /s dz.
1+ x2

o Watch Video Solution

iny/z

Z

dx

26. Evaluate the following integrals : /s

o Watch Video Solution



https://dl.doubtnut.com/l/_L9CLxkckI0sb
https://dl.doubtnut.com/l/_ElGVXwFZfecH
https://dl.doubtnut.com/l/_mzGUgJmSxD2L
https://dl.doubtnut.com/l/_5V7guQCbSCIS

27.Find the following integerals : /:os 2 cos 4z cos 6z dx

o Watch Video Solution

28. Evaluate ,/sin3 z cos® = dx

° Watch Video Solution

cos 2z — cos 2«
29. Integrate : dz.

COS I — COS ¢

o Watch Video Solution

sin 2z
30. Evaluate / . : dz.
sin bz sin 3z

o Watch Video Solution



https://dl.doubtnut.com/l/_aPk7uHAEfTlx
https://dl.doubtnut.com/l/_YRxoDLarPQru
https://dl.doubtnut.com/l/_ApgzHdtyjsVK
https://dl.doubtnut.com/l/_u1sOW2by8N85
https://dl.doubtnut.com/l/_wa83ZtVufbFr

1
31. Evaluate /—dm.
S

inx cosd x

° Watch Video Solution

1
32. EvaIuate/ dx
cos(x — a)cos(z — b)

o Watch Video Solution

32
33. Evaluate dz.
0 +1

° Watch Video Solution

sec? xdzx

Vtan’z + 4

34. Evaluate /

o Watch Video Solution



https://dl.doubtnut.com/l/_wa83ZtVufbFr
https://dl.doubtnut.com/l/_idJGFsm1zcUs
https://dl.doubtnut.com/l/_2iiJMfVAdhZK
https://dl.doubtnut.com/l/_Vdgyu3YWK5xB

1
35. EvaIuate/ dx
(2—z)*+1

o Watch Video Solution

1
36. Evaluate / dx
922 + 62 + 5

° Watch Video Solution

dx
37. Evaluate :/ .
3z2 4+ 13z — 10

o Watch Video Solution

38. Evaluate / dz
VT — 6z — 22

o Watch Video Solution



https://dl.doubtnut.com/l/_RB81WPKR8Auz
https://dl.doubtnut.com/l/_I3qMW6l1yRkh
https://dl.doubtnut.com/l/_mLzsFheNeTkN
https://dl.doubtnut.com/l/_cspFLufOBBzi
https://dl.doubtnut.com/l/_m8kelqdoUDKM

39. Evaluate / bc + 7 dx.

V@ 5@ 9

o Watch Video Solution

5 3
40. Evalute : / Tt dx
V2 + 4z + 10

° Watch Video Solution

41. Evaluate the following integrals:

/ rx+3 di
Vbh — dx — x?

° Watch Video Solution

1
42, Evaluate / T
x?2 — 6x + 13

o Watch Video Solution



https://dl.doubtnut.com/l/_m8kelqdoUDKM
https://dl.doubtnut.com/l/_YwKBzBz6ALm9
https://dl.doubtnut.com/l/_t3LxXxsOub1k
https://dl.doubtnut.com/l/_2Yei3180CJI6

43. Evaluate /d—a:
Vbhx? — 2z

° Watch Video Solution

44, Evaluate / dz .
V8 + 3x — 2

o Watch Video Solution

+ 3
45, Evaluate / v dzx.
2 —2x —5

° Watch Video Solution

2
46. Evaluate /1—wdx
z(1 — 2x)

o Watch Video Solution



https://dl.doubtnut.com/l/_e64agRu17cqh
https://dl.doubtnut.com/l/_9iQMY6YrzhWj
https://dl.doubtnut.com/l/_14AVkNuM4FZW
https://dl.doubtnut.com/l/_u7MEQoLuLeVP
https://dl.doubtnut.com/l/_nODuuuG9ewba

47.Evaluate / T dz

(z 4+ 1)(z + 2)

o Watch Video Solution

3r — 1
48. Evaluate /(w D -2z -3 dzx

o Watch Video Solution

3z — 1
49, Evaluate /(:E “(z — 2)(z —3) dzx

o Watch Video Solution

50. Evaluate / m dzx

( - 1)%(a +2)

° Watch Video Solution



https://dl.doubtnut.com/l/_nODuuuG9ewba
https://dl.doubtnut.com/l/_YjbhnLgPNwAJ
https://dl.doubtnut.com/l/_sihsfgiv536u
https://dl.doubtnut.com/l/_oZRprk5zhzIc

5
51. Evaluate: / v dx
(z +1)(x? —4)

o Watch Video Solution

3z — 1
52. Evaluate —2d:c
(z —2)

° Watch Video Solution

cos xdzx

53. Evaluate/ - -
(1 —sinz)(2 — sinx)

o Watch Video Solution

2z
54. Evaluate / dx
2 4+ 3z + 2

° Watch Video Solution



https://dl.doubtnut.com/l/_kJHJ80knD5yy
https://dl.doubtnut.com/l/_lUheGYU9tJtW
https://dl.doubtnut.com/l/_UGZClkkITmjK
https://dl.doubtnut.com/l/_eHHrOK6VyHnJ
https://dl.doubtnut.com/l/_VtNfvygT8sCT

5%
55. Evaluate: / dzx

(z +1)(a* - 9)

o Watch Video Solution

2

56. Evaluate the following integrals: / z dx
(22 + 1)(22 + 4)

° Watch Video Solution

57. Evaluate /l
e®(e® — 1)

° Watch Video Solution

58. Evaluate fc sin 3zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_VtNfvygT8sCT
https://dl.doubtnut.com/l/_31WLf5MwChk0
https://dl.doubtnut.com/l/_NJzERA32PW4o
https://dl.doubtnut.com/l/_Fc7fPMpUwiC0

59. Evaluate %132 sinzdz

° Watch Video Solution

60. Evaluate fn log 2xdx.

° Watch Video Solution

.1
Tsin T
61. Evaluate /—da:.

V1 — g2

o Watch Video Solution

dx
62. Evaluate
V5 — 4x — 222

o Watch Video Solution



https://dl.doubtnut.com/l/_brQFvvIXgXel
https://dl.doubtnut.com/l/_A20PmGKmldmF
https://dl.doubtnut.com/l/_erOB32E7oxHR
https://dl.doubtnut.com/l/_ZzgPFxUrVszq
https://dl.doubtnut.com/l/_Drb4y6LGmZVy

63. Evaluate ﬁ sin ! zdx

o Watch Video Solution

64. Evaluate ﬁ: cos ! zdzx.

o Watch Video Solution

65. Evaluate /B tan ! zdz

° Watch Video Solution

1 1
66. Evaluate /ew —— = dx.
T x

° Watch Video Solution



https://dl.doubtnut.com/l/_Drb4y6LGmZVy
https://dl.doubtnut.com/l/_SYFGVDUZBD5N
https://dl.doubtnut.com/l/_KiPZood8Ws3N
https://dl.doubtnut.com/l/_e7UqdAaUAMtX

67. Evaluate /62‘” sin zdzx

° Watch Video Solution

re®

68. Evaluate /—2d:13
(14 )

° Watch Video Solution

1 .
69. Evaluate /ew <ﬂ)dw
1+ cosx

° Watch Video Solution

70. Integrate the following function

4 — g2

o Watch Video Solution



https://dl.doubtnut.com/l/_M8PdDrsxal3F
https://dl.doubtnut.com/l/_TqKpbJcaOyet
https://dl.doubtnut.com/l/_mnxyh44onrGH
https://dl.doubtnut.com/l/_5zEjfrrPEnVk

71. Integrate the following function

V1 — 4z?

° Watch Video Solution

72.Integrate the following function

\/m2—|—4w—5

o Watch Video Solution

73. Integrate the following function

T + cos 6x
32 + sin 6z

o Watch Video Solution

2

3
74.If /(e“’” + bx)dz = e*®4 + % find the value of a and b.


https://dl.doubtnut.com/l/_xSBhpZ4DPGAh
https://dl.doubtnut.com/l/_i2fOoGZhhPMA
https://dl.doubtnut.com/l/_NAcaA5ChppRH
https://dl.doubtnut.com/l/_BsBGRougLU3Q

o Watch Video Solution

75. Find /(1 +x — 2132)d513.

° Watch Video Solution

76. Evlauate /(93 + 1)v/22% + 3dx

o Watch Video Solution

77. Evaluate the following integrals:

/(x +3)V/3— 4z — 2%da

o Watch Video Solution

b
78. Evaluate / xdx as a limit of sum.
a


https://dl.doubtnut.com/l/_BsBGRougLU3Q
https://dl.doubtnut.com/l/_9iP04NmexcxK
https://dl.doubtnut.com/l/_B4NdwiXsnPvX
https://dl.doubtnut.com/l/_q6Abt135l7XZ
https://dl.doubtnut.com/l/_1qlsqCNwmG0M

o Watch Video Solution

1
79. Evaluate/ (z + 1)(dz)
-1

o Watch Video Solution

b
80. Evaluate / z2dx as the limit of a sum.
a

o Watch Video Solution

1
81. Evaluate / z(1 — z)"dz by using properties of definite
0

integrals.

o Watch Video Solution



https://dl.doubtnut.com/l/_1qlsqCNwmG0M
https://dl.doubtnut.com/l/_R2uP8WPZAbkT
https://dl.doubtnut.com/l/_9B5d18k3SBWw
https://dl.doubtnut.com/l/_99UL4P1D8b7N

4
82. Evaluate / (az + e2$)daz as the limit of a sum.
0

o Watch Video Solution

b
83. Evaluate: /sin2 xdzx as the limit of a sum.

a

° Watch Video Solution

1

84. Evaluate /_1 (z + 1)(dz)

o Watch Video Solution

4
85. EvaIuate/ |z — 1|dz.
0

° Watch Video Solution



https://dl.doubtnut.com/l/_GmY7PF5Fpi2g
https://dl.doubtnut.com/l/_eZMG4vzCsB3E
https://dl.doubtnut.com/l/_Jjyh8XV5Ckic
https://dl.doubtnut.com/l/_NPB5HR23YEKQ

8
86. Evaluate:/ |z — 5|dz.
2

° Watch Video Solution

w/2
87. Evaluate/ sin 2zdzx.
0

o Watch Video Solution

52

dx
x2+4z + 3

2
88. Evaluate /
1

o Watch Video Solution

1
1
89. Evaluate:/ 10g<— — 1>d33
0 x

° Watch Video Solution



https://dl.doubtnut.com/l/_CgFxC4YKqKxO
https://dl.doubtnut.com/l/_POzp7jMh6Rn4
https://dl.doubtnut.com/l/_gIiqHtFRbQzt
https://dl.doubtnut.com/l/_0Qk3yLkcwmpt
https://dl.doubtnut.com/l/_sdDN4YZz0gmp

1
90. Evaluate/ (weh + sin%)dw.
0

o Watch Video Solution

w/3 1
o1. Evaluate/ —  dx
/6 14 (/tanz

o Watch Video Solution

dx

2
6 3
92. EvaIuate/ T+
0 x2+4

° Watch Video Solution

w/2
93. Evaluate / \/sin @ cos® 0d6.
0

o Watch Video Solution



https://dl.doubtnut.com/l/_sdDN4YZz0gmp
https://dl.doubtnut.com/l/_vNWGvTY8XLbD
https://dl.doubtnut.com/l/_jFgGL9tXKsOs
https://dl.doubtnut.com/l/_KPrdHzoXgAzD
https://dl.doubtnut.com/l/_apxXL82ywCtZ

\/sinz

0 +/sinz + y/cosz

ST

94. Evaluate dx

o Watch Video Solution

s
4

95. Evaluate:/ sin® zdz

_r
4

o Watch Video Solution

27
96. EvaIuate:/ cos® zdz.
0

° Watch Video Solution

NI E]

97. Evaluate :/ sin? zdz

_I
2

o Watch Video Solution



https://dl.doubtnut.com/l/_apxXL82ywCtZ
https://dl.doubtnut.com/l/_2nEuXXMf7Jq6
https://dl.doubtnut.com/l/_33PhO4i1tWrq
https://dl.doubtnut.com/l/_IT4U6rCmmQTv
https://dl.doubtnut.com/l/_8edZxzgePDIW

98. Find the following integrals

/2 sin®
" dzx
0 sin“z + costzx

° Watch Video Solution

s 3
2 sin? x
99, Evaluate :/ dzx.
0

3 3
sinz £ + cos2 &

° Watch Video Solution

T zxsinz
100. Evaluate : —  dzx
o 1+ cos?z

o Watch Video Solution

w/2 5
cos® zdzx
101. Evaluate/ = .
0 sin® z + cos® x

o Watch Video Solution



https://dl.doubtnut.com/l/_8edZxzgePDIW
https://dl.doubtnut.com/l/_WoupLym2vmga
https://dl.doubtnut.com/l/_2rHauqCMs20Z
https://dl.doubtnut.com/l/_SVuUZCIuES85

2
102. Evaluate: / ‘333 — a:‘da:
—1

o Watch Video Solution

5

103. Evaluate:/ | + 2|dx.
5

o Watch Video Solution

8
104. Evaluate:/ |z — 5|dx.
2

° Watch Video Solution

w/4
105. Evaluate / log(1 + tanz)dz.
0

o Watch Video Solution



https://dl.doubtnut.com/l/_SVuUZCIuES85
https://dl.doubtnut.com/l/_6s1MiCjnv8g2
https://dl.doubtnut.com/l/_zETb1qL6vmq9
https://dl.doubtnut.com/l/_HwwbhGPs09b3
https://dl.doubtnut.com/l/_eJfVsGiReOyb

Z

™
106. Evaluate/ _—
0 1+ sinx

o Watch Video Solution

w/2
107. Evaluate / sin’ zdzx.
—7/2

o Watch Video Solution

/2 sinx — cosx
108. Prove that - dr = 0.
0 1+ sinxzcosx

o Watch Video Solution

109. Find /seca:(sec:v + tanx)dz.

o Watch Video Solution



https://dl.doubtnut.com/l/_xyN3zYdDZyiA
https://dl.doubtnut.com/l/_HmncFUw5Ylo8
https://dl.doubtnut.com/l/_9kV7AysWpoKJ
https://dl.doubtnut.com/l/_JJ2o8HGKZwBP
https://dl.doubtnut.com/l/_YbWr0IKERyTB

110. Evaluate the following integrals : /(1 —x)/zxdz

° Watch Video Solution

111. Evaluat / dz
.Evaluate: | ——
V1 — 2

° Watch Video Solution

112. Evaluate the following integrals:

/(sec2 z)dx

cos ec’z

o Watch Video Solution

1

tan™ " x

dx

113. Evaluate /e
1+ 2

° Watch Video Solution



https://dl.doubtnut.com/l/_YbWr0IKERyTB
https://dl.doubtnut.com/l/_GW49m6tdrQ2Q
https://dl.doubtnut.com/l/_dcPumpDXr9Qn
https://dl.doubtnut.com/l/_gcmKnI6RkwQL

— 3sinx
114.Evaluate [———dzx
cos? x

o Watch Video Solution

15.If <i) flz) = 4z — 3 such that f(2) = 0.Then f(x) is
dx zt

o Watch Video Solution

116. Evaluate : /ca,n zdz.

o Watch Video Solution

117. Evaluate /cot zdzx.

° Watch Video Solution



https://dl.doubtnut.com/l/_GrIMSdq0brRg
https://dl.doubtnut.com/l/_HhFuFlqezsxr
https://dl.doubtnut.com/l/_DhINJ9hOdIFi
https://dl.doubtnut.com/l/_tGzBMemPsGuS
https://dl.doubtnut.com/l/_WwWkq7SEpcwF

118. Evaluate /sec zdzx.

o Watch Video Solution

119. Evaluate /coseca:da:.

o Watch Video Solution

1+ logx 2
120. Evaluate /(Tg)d:c

o Watch Video Solution

sinz
121. Evaluate /_—dw.
sin(xz + a)

o Watch Video Solution



https://dl.doubtnut.com/l/_WwWkq7SEpcwF
https://dl.doubtnut.com/l/_7ggGoHWVHU0q
https://dl.doubtnut.com/l/_3xbtrn7CENbH
https://dl.doubtnut.com/l/_yDtKmL2ZvQtu

122. Evaluate /2:1: sin(ac2 + 1) dz.

° Watch Video Solution

123. Evaluate /I:(log z)da.

° Watch Video Solution

124. Evaluate /sin x sin(cos z)dx.

o Watch Video Solution

125. Evaluate ﬁ2 log zdz.

o Watch Video Solution



https://dl.doubtnut.com/l/_20FaOz4fRkcW
https://dl.doubtnut.com/l/_9yRcx18zThyE
https://dl.doubtnut.com/l/_2BCi9OvWgHlP
https://dl.doubtnut.com/l/_K15iit5BOQIr
https://dl.doubtnut.com/l/_qVRLE9xFEC4t

126. Evaluate /4:1: + 2 \/a: + x + 1ld=x.

° Watch Video Solution

127. Evaluate /(sin_ 1 :B)de

o Watch Video Solution

2z 1
dx.

128. Evaluate /e
e2r +1

o Watch Video Solution

an? \/z sec’ \/z

129. Evaluate the following integrals : /t 7 dx
x

° Watch Video Solution



https://dl.doubtnut.com/l/_qVRLE9xFEC4t
https://dl.doubtnut.com/l/_JEEFpiDDtWAP
https://dl.doubtnut.com/l/_EcEMAe3RqvAX
https://dl.doubtnut.com/l/_ecMuzMwdjE90

130. Evaluate /:ot z log(sinz)dzx.

o Watch Video Solution

131. Evaluate [——d=x
1+ cotx

° Watch Video Solution

Vtanz
sinx cos T

132. Evaluate dz.

o Watch Video Solution

in(ta\,n_1 a:)
133. Evaluate /s dz.
1+ x2

o Watch Video Solution



https://dl.doubtnut.com/l/_rtjdNmE2az53
https://dl.doubtnut.com/l/_ub9bDrR5dNk3
https://dl.doubtnut.com/l/_UNUwQ59w7Z0m
https://dl.doubtnut.com/l/_XIi92cvFxWN2
https://dl.doubtnut.com/l/_mXvM9yzo3wam

invz
N

134. Evaluate the following integrals : /s dx

o Watch Video Solution

135. Find the following integerals : /cos 2z cos 4z cos 6zdx

° Watch Video Solution

136. Evaluate ,/sin3 x cos® x dx

° Watch Video Solution

cos 2z — cos 2«
137. Integrate : dx.
COS T — COS &

o Watch Video Solution



https://dl.doubtnut.com/l/_mXvM9yzo3wam
https://dl.doubtnut.com/l/_zBTmUFLOidvD
https://dl.doubtnut.com/l/_41cubtoFmiLv
https://dl.doubtnut.com/l/_Izi4nBA8RMow

sin 2x

138. Evaluat .
valate /sin5a: sin 3z v

o Watch Video Solution

1
139. Evaluate /— dx.
sin z cos® x

° Watch Video Solution

1
140. Evaluate / dx
cos(z — a)cos(z — b)

o Watch Video Solution

2

141. Evaluate / 37 e

x6 +1

o Watch Video Solution



https://dl.doubtnut.com/l/_kKwCYfVedNVc
https://dl.doubtnut.com/l/_ZXOpbINqFQ17
https://dl.doubtnut.com/l/_a73WbmsxELbN
https://dl.doubtnut.com/l/_345JavPDKlBv
https://dl.doubtnut.com/l/_gTFCjiaAP9pE

sec? xdzx

\/ta,n2:c—|—4

142. Evaluate /

o Watch Video Solution

1
143. Evaluate / dzx.

(2—z)*+1

° Watch Video Solution

1
144. Evaluate / dz
922 + 6x + 5

o Watch Video Solution

1
145. Evaluate / dzx
3x2 + 13z — 10

o Watch Video Solution



https://dl.doubtnut.com/l/_gTFCjiaAP9pE
https://dl.doubtnut.com/l/_pe7MkhsRMwaG
https://dl.doubtnut.com/l/_CbNQbAQzTuy3
https://dl.doubtnut.com/l/_0Fw4TBAnWg2Z
https://dl.doubtnut.com/l/_EY4e9SBffAEJ

dx
146. Evaluate

VT — 6x — 22

o Watch Video Solution

6 7
147. Evaluate / Tt dx.

V(z =5)(z —4)

o Watch Video Solution

5 3
148. Evalute : / Tt dx
V2 + 4x + 10

° Watch Video Solution

3
149. Evaluate/ Tt dzx

5 — 4 — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_EY4e9SBffAEJ
https://dl.doubtnut.com/l/_chmofm2JGXvg
https://dl.doubtnut.com/l/_S4S8i4kTzAGj
https://dl.doubtnut.com/l/_e1q40LAbqshK

1
150. Evaluate/ T
x?2 — 6z + 13

o Watch Video Solution

dx
151. Evaluate /—
Vhx? — 2z

o Watch Video Solution

dz
152. Evaluate / .
V8 + 3x — 22

° Watch Video Solution

3
153. Evaluate/ Tt dzx.
x2 —2x —5

o Watch Video Solution



https://dl.doubtnut.com/l/_1eGAtrAGpO2f
https://dl.doubtnut.com/l/_DScDWzizvuVE
https://dl.doubtnut.com/l/_FlUqDFaiLVYF
https://dl.doubtnut.com/l/_tcij7TVK5IjJ
https://dl.doubtnut.com/l/_SPz7jWUA5vc1

1 — 2
154. Evaluate /—wda:
z(1 —2z)

o Watch Video Solution

155. Evaluate / < dx
(z +1)(x + 2)

° Watch Video Solution

3z —1
156. Evaluate / dzx
(z —1)(xz — 2)(z — 3)

o Watch Video Solution

dx
157. Evaluate : /(w Dz -2 = 3).

° Watch Video Solution



https://dl.doubtnut.com/l/_SPz7jWUA5vc1
https://dl.doubtnut.com/l/_b5ShbKbTMqGU
https://dl.doubtnut.com/l/_R2fRxmsOLy6s
https://dl.doubtnut.com/l/_B0F7QUhCSQaJ

158. Evaluate / T dx

(z —1)%(z + 2)

o Watch Video Solution

5
159. Evaluate: / v dzx
(z + 1)(z% — 4)

° Watch Video Solution

3z —1
160. Evaluate —Qda:
(z —2)

o Watch Video Solution

cos zdx

161. Evaluate
v /(1—sina:)(2—sina;)

° Watch Video Solution



https://dl.doubtnut.com/l/_ZfB0zoboaGWy
https://dl.doubtnut.com/l/_qLwOjA60gtKE
https://dl.doubtnut.com/l/_VdzMf2RwzZza
https://dl.doubtnut.com/l/_XE4NB0e3bfdt
https://dl.doubtnut.com/l/_xd4w2njs6gxg

2
162. Evaluate / v dzx
2+ 3z +2

o Watch Video Solution

5
163. EvaIuate/ v dx
(z 4+ 1)(=2+9)

° Watch Video Solution

ZB2

164. Evaluat dz.
vauae/(m2+1)(m2+4) T

° Watch Video Solution

etdx

165. Evaluate |————.
e?(e* — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_xd4w2njs6gxg
https://dl.doubtnut.com/l/_7eJ9iGMfd89E
https://dl.doubtnut.com/l/_ToMSMyeh6yBr
https://dl.doubtnut.com/l/_E9EEP1CS1g9C

166. Evaluate /m sin 3zdz

° Watch Video Solution

167. Evaluate /1:2 sinzdzx

° Watch Video Solution

168. Evaluate ﬁs log 2xdzx.

o Watch Video Solution

.1
169. Evaluate /Md:v.
1— z2

o Watch Video Solution



https://dl.doubtnut.com/l/_uCieAipHh8tG
https://dl.doubtnut.com/l/_oNM4LybQYj0q
https://dl.doubtnut.com/l/_9n2SrwsAGJVm
https://dl.doubtnut.com/l/_LwwvW5cax8KJ
https://dl.doubtnut.com/l/_aY71ET4EEizI

170. Evaluate / dz
V5 — dx — 222

o Watch Video Solution

171. Evaluate ﬁ sin ' zdz

o Watch Video Solution

172. Evaluate /B cos ! zdz.

° Watch Video Solution

173. Evaluate /13 tan~ ! zdz

o Watch Video Solution



https://dl.doubtnut.com/l/_aY71ET4EEizI
https://dl.doubtnut.com/l/_e0jLcKFGlcn6
https://dl.doubtnut.com/l/_5GijqOTb7dM3
https://dl.doubtnut.com/l/_NAdSoMyisVrX

1 1
174. Evaluate %a‘”” (— — —)dw.
Wi ;1}2

° Watch Video Solution

175. Evaluate /32’” sin zdzx

o Watch Video Solution

re’

176. Evaluate /—2dw
1+ )

° Watch Video Solution

1 )
177. Evaluate /e”c (—+ S )d:n
1+ cosx

° Watch Video Solution



https://dl.doubtnut.com/l/_IScZyTLufz85
https://dl.doubtnut.com/l/_TC1rEA4Ia6Yl
https://dl.doubtnut.com/l/_RAQoeMSFRHaM
https://dl.doubtnut.com/l/_zFwpYe0U8TcO
https://dl.doubtnut.com/l/_ksE02F5t9OY3

178. Integrate the following function

\/4—:132

° Watch Video Solution

179. Integrate the following function

\/1—4:1:2

o Watch Video Solution

180. Integrate the following function

\/a:2+4:c—5

o Watch Video Solution



https://dl.doubtnut.com/l/_ksE02F5t9OY3
https://dl.doubtnut.com/l/_kcjeVgVFv6Gy
https://dl.doubtnut.com/l/_WBfTfZey2hhX

181. Integrate the following function

T + cos 6x

3z2 4 sin 6z

° Watch Video Solution

2

1 3
182. If /(eam + bx)dz = Ze“ + %,ﬁnd the value of a and b.

o Watch Video Solution

183. Find fn 1+ — zdz.

o Watch Video Solution

184. Evlauate /(:v + 1)v/22% + 3dx

° Watch Video Solution



https://dl.doubtnut.com/l/_YQUpWK4xtu65
https://dl.doubtnut.com/l/_WDxDqnaPD96U
https://dl.doubtnut.com/l/_9WAL9V6RcWVa
https://dl.doubtnut.com/l/_QRpVQ9sLzCV8

185. Evaluate the following integrals:

/(w 4+ 3)V/3— 4z — 2%da

° Watch Video Solution

b
186. Evaluate / xdx as a limit of sum.
a

o Watch Video Solution

5
187. Evaluate / (z + 1)dz as a limit of sum.
0

o Watch Video Solution

b
188. Evaluate / z2dx as the limit of a sum.
a

o Watch Video Solution



https://dl.doubtnut.com/l/_OQjXN8MMlw7W
https://dl.doubtnut.com/l/_DSQo2mER6vDx
https://dl.doubtnut.com/l/_XemTtFDaRn1X
https://dl.doubtnut.com/l/_59scp33qXa2x

1
189. Evaluate / z(1 — x)"dz by using properties of definite
0

integrals.

o Watch Video Solution

4
190. Evaluate / (:1: + e2m)dac as the limit of a sum.
0

o Watch Video Solution

b
191. Evaluate / sin® zdz as the limit of a sum.
n

° Watch Video Solution

1

192. EvaIuate/ (z + 1)(dz)
-1

| o \Wiak~ch \Adan CAliikian



https://dl.doubtnut.com/l/_59scp33qXa2x
https://dl.doubtnut.com/l/_IXrkHlYG5ZDx
https://dl.doubtnut.com/l/_guEu4skbLC09
https://dl.doubtnut.com/l/_re7XagPYVZYc
https://dl.doubtnut.com/l/_bxG5wywUj6jX
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4
193. Evaluate/ |z — 1|dz.
0

o Watch Video Solution

8
194. Evaluate:/ |z — 5|dx.
2

o Watch Video Solution

w/2
195. Evaluate / sin 2zdzx.
0

o Watch Video Solution

5?2

2
196. Evaluate / dx
1 x2+4x +3

o Watch Video Solution



https://dl.doubtnut.com/l/_bxG5wywUj6jX
https://dl.doubtnut.com/l/_jocHGfxTj2ir
https://dl.doubtnut.com/l/_rplCJYyt567l
https://dl.doubtnut.com/l/_seIYfV1J40UN
https://dl.doubtnut.com/l/_To87A9JDqtBU

1 1
197. Evaluate: / 10g<— — 1) dx
0 x

° Watch Video Solution

1
198. Evaluate/ (31362m + sin%)dm.
0

° Watch Video Solution

w/3 1
199. EvaIuate/ —  dx
7/6 14 v/tanz

o Watch Video Solution

2
6 3
200. Evaluate / s dx

0 332-|-4

o Watch Video Solution



https://dl.doubtnut.com/l/_To87A9JDqtBU
https://dl.doubtnut.com/l/_udQn3YzLcBaW
https://dl.doubtnut.com/l/_ZxneAj6a51NB
https://dl.doubtnut.com/l/_m7vWqO5V37T0
https://dl.doubtnut.com/l/_YD37QnXt5yda

w/2
201. Evaluate / 4/sin @ cos® 0d6.
0

° Watch Video Solution

3 vsinz d
T
0 +/sinx + y/coscz

202. Evaluate

o Watch Video Solution

INEI

203. Evaluate: / sin® zdz

K
4

o Watch Video Solution

2
204. Evaluate :/ cos® zdz.
0

o Watch Video Solution



https://dl.doubtnut.com/l/_YD37QnXt5yda
https://dl.doubtnut.com/l/_COS4m8fvpjSX
https://dl.doubtnut.com/l/_tZdpPssaELT2
https://dl.doubtnut.com/l/_h0fyhUHawh6X
https://dl.doubtnut.com/l/_lUJn9vskpPM4

2
205. Evaluate : / sin® zdz

7r
2

o Watch Video Solution

s . 4

2 sin” x
206. Evaluate / dzx.
0

sin*z + costz

° Watch Video Solution

™ 3

2 sinz x
207. Evaluate : / dzx.
0

3 3
sinz £ + cos2 &

o Watch Video Solution

T xsinz
208. Evaluate : —  dzx
o 1+ cos’®z

° Watch Video Solution



https://dl.doubtnut.com/l/_lUJn9vskpPM4
https://dl.doubtnut.com/l/_qFRqCEJq8OCf
https://dl.doubtnut.com/l/_eee565iUWRYK
https://dl.doubtnut.com/l/_FGFteMPRROEz
https://dl.doubtnut.com/l/_NqEe5R2LAVJt

COS5 T

w/2
209. Evaluate / = dzx
0 sin® ¢ + cos® z

o Watch Video Solution

2
210. Evaluate:/ |:1:3 — m’dm

o Watch Video Solution

5

211, Evaluate/ |z + 2|dz.
5

o Watch Video Solution

8
212. Evaluate/ |z — 5|dz
2

o Watch Video Solution



https://dl.doubtnut.com/l/_NqEe5R2LAVJt
https://dl.doubtnut.com/l/_xfxlB12jY5Yz
https://dl.doubtnut.com/l/_v23ETjEScvut
https://dl.doubtnut.com/l/_wDzXmO8hyyke
https://dl.doubtnut.com/l/_3EoImyH7nX5Y

w/4
213. Evaluate / log(1 + tanz)dz.
0

° Watch Video Solution

T x
214. Evaluate / ——d=x.
o l+sinz

° Watch Video Solution

w/2
215. Evaluate / sin’ zdzx.
—7/2

o Watch Video Solution

sinx — cosx

w/2
216. Prove that/ - dx = 0.
0 1+ sinzcosx

° Watch Video Solution



https://dl.doubtnut.com/l/_3EoImyH7nX5Y
https://dl.doubtnut.com/l/_feQJpZ3t8mpg
https://dl.doubtnut.com/l/_bHsW2nmrYaXN
https://dl.doubtnut.com/l/_JnMfiQ7CbW99
https://dl.doubtnut.com/l/_0tV1fzg3RBdV

Important Questions From Miscellaneous Exercise

™ 1 . .
1. Evaluate / e’ <ﬂ>da:
x/2 1—cosz

° Watch Video Solution

T Trtanzx
2. Evaluate :
o secx + tanx

° Watch Video Solution

/4 sinzcoszx
3. Evaluate 1 dzx.
0 cos?2 x + sin*z

° Watch Video Solution



https://dl.doubtnut.com/l/_0tV1fzg3RBdV
https://dl.doubtnut.com/l/_UVP8YOyNsyma
https://dl.doubtnut.com/l/_tkax0rwJNtkn
https://dl.doubtnut.com/l/_zreJ0r555OMn

w|3

o sinx + cosx
4. Evaluate the definite integral: / dx

z \/sin 2x

o Watch Video Solution

5. Evaluate the following integral

/(eSIOgm _ e4logw)dm

(e3log.r — e2log:1:)

o Watch Video Solution

1
6. EvaIuate/
\/ 3

sin® z sin(x + a)dz

° Watch Video Solution

w/2
7.Show that :/ (vtanz + (/cotz)dz = +/2m.
0

| o Watch Video Solution


https://dl.doubtnut.com/l/_mu2l2v0VrcIa
https://dl.doubtnut.com/l/_nHj5v8B5lhoV
https://dl.doubtnut.com/l/_MMv3NsDcVGTK
https://dl.doubtnut.com/l/_XRsysxsEJj3F

T zdx
8. Evaluate : T
0 a2cos?z + b2sin‘“x

o Watch Video Solution

-1
sin

9. Evaluate/ 1\/_ \/_
sin \/_—l—cos 1\/_

o Watch Video Solution

10. Evaluate : S —
0 1 — 22

o Watch Video Solution

g 1 —sinzx
11. Evaluate el — |dz
/2 1—coszx

| ° Watch Video Solution


https://dl.doubtnut.com/l/_XRsysxsEJj3F
https://dl.doubtnut.com/l/_TM3wuf5MthKz
https://dl.doubtnut.com/l/_prJNHyLWqnuY
https://dl.doubtnut.com/l/_SkiT2x7QO66M
https://dl.doubtnut.com/l/_mUqJsO6oq45D

T rtanz
12. Evaluate : dz.
o secx + tanzx

o Watch Video Solution

/4 sinzcosz
13. Evaluate dzx.
0

cos2z + sin*z

o Watch Video Solution

o 3 sing + cosx
14. Evaluate the definite integral: dx

z v/sin 2x

o Watch Video Solution

eSlog:c _ e410g:c
15. Evaluate dx
edlogz _ o2logz

° Watch Video Solution



https://dl.doubtnut.com/l/_mUqJsO6oq45D
https://dl.doubtnut.com/l/_ygyOsQY1jEE8
https://dl.doubtnut.com/l/_MbUHZcyCNLcB
https://dl.doubtnut.com/l/_xQ0GUQvZhWC1
https://dl.doubtnut.com/l/_wpMtI2AXPzaH

1
16. Evaluate /

sin® z sin(z + a)dz

o Watch Video Solution

w/2
17. Show that : / (vtanz + y/cot z)dz = /2m.
0

° Watch Video Solution

T xdx
18. Evaluate : 5
0

a?cos?x + b?sin“x

o Watch Video Solution

sin ! vz + cos~ !z

-1 -1
sin T — CoS T
19. Evaluate /( \/_ f)da:

| o Watch Video Solution


https://dl.doubtnut.com/l/_wpMtI2AXPzaH
https://dl.doubtnut.com/l/_PBo6UnwS7381
https://dl.doubtnut.com/l/_Kz3hCfBvxTHX
https://dl.doubtnut.com/l/_wlEoK34wKwAn
https://dl.doubtnut.com/l/_UrHoWBvUAyPe

1/42 1
—dz
0 V1 — z2

20. Evaluate :

o Watch Video Solution

Multiple Choice Questions Mcgs

3
1. Choose the correct answer: /L'Ze“’ dx equals :

1
A. geﬁ +c

2

1
B. gex +c

1
C. Eexg +c

2

1
D. Eex +c

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_UrHoWBvUAyPe
https://dl.doubtnut.com/l/_xf1Oi4ghFc55
https://dl.doubtnut.com/l/_7XskR97RZuFa

2. Choose the correct answer: %3”” secz(l + tanz)dz equals :

A.e®cosx + ¢
B.e“*secx + ¢
C.e’sinxz + c

D.e“tanz + ¢

Answer: B

o Watch Video Solution

3. Choose the correct answer: /\/:1:2 — 8z + Tdz is equal to:

A

1 N
5(x—4)\/:c2—8:13—|—7—|—910g‘:c—4—|- \/502—8:13—#7‘4—0


https://dl.doubtnut.com/l/_7XskR97RZuFa
https://dl.doubtnut.com/l/_CucQUJM9YudH
https://dl.doubtnut.com/l/_DzH9u89jWGfU

1 I
5(x—|—4)\/:c2—8:13—|—7—|—910g‘:c—|—4+ \/x2—8m+7‘+c

C.
1 R
5(3@—4)\/:1@2—8:13—|—7—3\/§10g‘:c—|—4—|—\/:c2—8:13—|—7’—l—c
D.
1 ey 72
5(33—4)\/33 —8x+7—§10g‘w—4—|— T —8£U-|—7)+C
Answer: D

o Watch Video Solution

Vi g
4./ z equals :
1 1+ a2

A.

x
ol w|§3 N


https://dl.doubtnut.com/l/_DzH9u89jWGfU
https://dl.doubtnut.com/l/_XbsOsq3cK1F3

Answer: D

o Watch Video Solution

2/3 dz
5./ ——— equals
0 4 + 9:172

A

@

N
~ ﬁ'_\_] 5'3 o3

o

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XbsOsq3cK1F3
https://dl.doubtnut.com/l/_eygRwSaOskta

6. Choose the correct answer : The anti

(ﬁ + (%)) equals.

l.'1@1/3+2ac1/2—|—c

A.
3
2 1
B. §w2/3 + 53:2 +ec
2 3/2 1/2
C. gw + 22 +c
3 1
D. §w3/2 + 5331/2 +c
Answer: C

derivative of

° Watch Video Solution

, /10:1:9 + 10” log, 10

210 7 107 dxis equal to :

A10° — 20 + ¢

B.

10° + 2% + ¢


https://dl.doubtnut.com/l/_aRqE0icBXH5v
https://dl.doubtnut.com/l/_Y9W82yrwda9a

C. (10“’ — :1:10) ! +c

D. log(lOw + a:lo) +c

Answer: D

o Watch Video Solution

8. Evaluate
/ dx
sin® z cos2
A.tanx + cotx + ¢
B.tanx — cotx + ¢
C.tanxzcotx + c

D.tanx — cot 2z + ¢

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Y9W82yrwda9a
https://dl.doubtnut.com/l/_susdxdk8A2Rk

sin?x — cos?z , |
9. dx is equal to :

sinz cos2 z

A.tanx + cotx + ¢
B.tanx + cosecx + ¢
C.—tanx +cotx + ¢

D.tanx + secx + ¢

Answer: A

° Watch Video Solution

- e?(1+ o)
10. Evaluate the following integrals : /—dw
cos?(ze®)

A. —cot(ze”) + ¢

B.tan(ze”) + ¢


https://dl.doubtnut.com/l/_susdxdk8A2Rk
https://dl.doubtnut.com/l/_aOzifmUGVDXv
https://dl.doubtnut.com/l/_bHudpi77r5OT

C.tan(e®) + ¢

D.cot(e®) + ¢

Answer: B

o Watch Video Solution

dx
1. equals :
z2 + 2z + 2

Aztan l(z +1)+c
B.tan }(z +1) + ¢
C.(x+ Dtan"lz +c

D.tan !z +c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bHudpi77r5OT
https://dl.doubtnut.com/l/_IJcaW5ButVED
https://dl.doubtnut.com/l/_hdhrq1qsnEug

Answer: B

o Watch Video Solution

d
13. /( rar equals :

z —1)(z — 2)

(2 — 1)’

A logl ——
©8 T — 2 te

(z —2)°

B. log| ————
©8 z—1 te

c1 z—1)\2
.log P +c



https://dl.doubtnut.com/l/_hdhrq1qsnEug
https://dl.doubtnut.com/l/_i0fXEJ8jcZSJ

D.log|(z — 1)(z — 2)| + ¢

Answer: B

o Watch Video Solution

14. /d—x equals :
z(x? 4+ 1)

A.log|z| — %log(a:2 +1) +¢
1 o
B.log|x\§(w +1) +¢
1 2
C. —log|z| + Elog(m +1) 4+ ¢

1
D. Elog]:ﬂ +log(z® + 1) + ¢

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_i0fXEJ8jcZSJ
https://dl.doubtnut.com/l/_1P0I0Au6scvM

15. Choose the correct answer: /\/ 1 + 2%dz is equal to:

AL 1+m2+%10g)x+\/1+m2‘+c

[\

3/2

(1+2%)" " +c

3/2+c

w|l o W

a:(l + a:2)

2
D.%\/l—l—a:2—|—%x2log‘:c—|—\/1—|—m2‘—|—c

Answer: A

o Watch Video Solution

1
16. The value of the integral /
1
3

A.6
B.O

C.3


https://dl.doubtnut.com/l/_Dqi5ApkHYgpn
https://dl.doubtnut.com/l/_XVLkYSWtVEYT

D.4

Answer: A

o Watch Video Solution

17.if f(z) = /mtsintdt, then f’'(x) is
0

A.cosz + xzsinzx
B.zsinx
C.xcoszx

D.sinx + x cosx

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XVLkYSWtVEYT
https://dl.doubtnut.com/l/_ovMOfQmbSEQL

w/2 4 :
18. The value of/ log<m)d:c is
0 44 3coszx

A2

C.oO

Answer: C

° Watch Video Solution

w/2
19. The value of/ (:133 +zcosz + tan® = + l)d:c is :
—7/2

A.O

B.2


https://dl.doubtnut.com/l/_z9N9jkr6GQ9q
https://dl.doubtnut.com/l/_1ZsODZzvLWug

D.1

Answer: C

o Watch Video Solution

d
20. /—x is equal to:
et +e "

A.tan~1(e®) + ¢
B.ta,n_l(e_””) +c
C. log(e‘”c — e‘””) +c

D. log(e‘”c + e‘””) +c

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1ZsODZzvLWug
https://dl.doubtnut.com/l/_DVo6dHnJ2Uha

cos 2x )
21./ > dz is equal to:
(sinz + cosx)

-1

"sinz + cosx

B.log|sinx + cosz| + ¢

C.log|sinz — cosz| + ¢

1
D. +c

(sinz + cosz)?

Answer: B

O Watch Video Solution

b
22.1f f(a + b — x) = f(z), then / z f(x)dx is equal to:

a—i—b/ f(b—x)dz

B. “‘2”’/& (b + )dz



https://dl.doubtnut.com/l/_tC0uWPjuWMwd
https://dl.doubtnut.com/l/_YfrDaY5hSjOg

b
D. a—2|—b/a f(z)dz

Answer: D

o Watch Video Solution

L 22-1 ,
23. The value of tan — |dzis:
0 14z — 22

A1l

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YfrDaY5hSjOg
https://dl.doubtnut.com/l/_255SOQOeeJcc

1
24, /ﬁd:ﬁ equals
a* —x

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Egs0sws4diC1
https://dl.doubtnut.com/l/_bpe6GMWNoVge

D. None of these

Answer: B

o Watch Video Solution

1
26. /ﬁdm equals
x? —a

1
A. —log ata

2a a—x te

1
B. —log zta
2a T —a

c 110 T —a
" 2a g:z:—l—a

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bpe6GMWNoVge
https://dl.doubtnut.com/l/_IS298ZaztoQI

27. Choose the correct answer: ft:ze‘”3d:1: equals :

Answer: A

o Watch Video Solution

28. Choose the correct answer of /9“’ secz(1l + tanz)dz.

A.e®cosx + ¢
B.esecx + ¢

C.esinxz + c


https://dl.doubtnut.com/l/_aYXQFykebBlY
https://dl.doubtnut.com/l/_VUml2YSLxLZO

D.e“tanz + ¢

Answer: B

o Watch Video Solution

29. /\/ z? — 8z + Tdz is equals to

A.

5(9@—4)\/:1: —8x+7+910g(m—4+\/9@ — 8z + ‘-i—c
5( z + 4)/z? —8:1:—|—7—|—910g(:1:—|—4—|—\/:1: — 8z + ‘-i—c
5:1:—4 \/:1: — 8 +7— 3\/§log‘x—|—4+\/a} — 8z + ‘—l—c

5:1:—4\/:1: —8:1:—|—7——10g‘x—4—i—\/:1: — 8z + )—i—c


https://dl.doubtnut.com/l/_VUml2YSLxLZO
https://dl.doubtnut.com/l/_Qa8zRdmmTffc

Answer: D

o Watch Video Solution

is equal to :

&
—
=

1+ =z

>

w
Sl A |y =3

Answer: D

° Watch Video Solution

2/3
31./ d—a: equals
0 4 =+ 9%2


https://dl.doubtnut.com/l/_Qa8zRdmmTffc
https://dl.doubtnut.com/l/_XJtnLuNqWR6N
https://dl.doubtnut.com/l/_MYb9ClTxW5lx

w >
NG §|=] 5|=] ol 3

N

o

Answer: C

o Watch Video Solution

1
32.The anti derivative of | \/z + — | equals
VT

1
A. §w1/3+2m1/2—|—c

2 1
B. §w2/3 + 551:2 +c

2
C. §w3/2+2x1/2—|—c

3 1
D. §w3/2+ 5:1:1/2—|—c


https://dl.doubtnut.com/l/_MYb9ClTxW5lx
https://dl.doubtnut.com/l/_8oqvYp8yvncz

Answer: C

o View Text Solution

10z° + 107 log, 10
33. /
z10 + 10°

dx is equal to :
A10° — 2™ + ¢
B.10" + z'% + ¢

C. (10““" - wlo) ! +c

D. log(lO” + mlo) +c

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8oqvYp8yvncz
https://dl.doubtnut.com/l/_3qCV0KKUjezD

34. Evaluate
/ dx
sin® z cos2
A.tanz +cotx + ¢
B.tanxz — cotx + ¢
C.tanxcotx + c

D.tanx — cot 2z + ¢

Answer: B

o Watch Video Solution

sinz — cos?z )
35. > dz is equal to :
sin® ¢ cos? x

A.tanxz +cotx + ¢

B.tanx + cosecx + c


https://dl.doubtnut.com/l/_SkUPxZaIlBju
https://dl.doubtnut.com/l/_WWlsEh3mkCv5

C.—tanx +cotx + ¢

D.tanx + secx + ¢

Answer: A

o Watch Video Solution

o e’ (1 + )
36. Evaluate the following integrals : /—dm
cos?(ze®)

A. —cot(ze”) + ¢
B.tan(ze®) + ¢
C.tan(e®) + ¢

D.cot(e®) + ¢

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WWlsEh3mkCv5
https://dl.doubtnut.com/l/_PUdyGyc4ZBN1

d
37./ z equals :
2 + 2z + 2

Aztan l(z +1) +c
B.tan " }(z + 1) + c
C.(x+ Dtan"lz +c

D.tan !z +c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8sJrFtpu8Gkx
https://dl.doubtnut.com/l/_EurpQKpkOkdj

Answer: B

o Watch Video Solution

39. /( zdz equals :

z—1)(z — 2)
(z—1)°
A.logﬂ +c
(z - 2)°
B.logﬁ +c
c1 z—1 2+
logl| — c

D.log|(z — 1)(z — 2)| + ¢

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EurpQKpkOkdj
https://dl.doubtnut.com/l/_zPNlBMevLIGJ

d
40. /—x equals :
z(x? 4+ 1)

A log|x| — %log(:z;2 +1) +c
1
B. log|z| = (a: +1) +c
1 2
C. —log|z| + Elog(a: +1) +¢

1 2
D. Elog]x\ +log(z® +1) + ¢

Answer: A

o Watch Video Solution

41. /\/ 1 + 2%dx is equal to

A.% 1+m2+%10g)m+\/1+m2‘+c

(1+= )3/2—!—0

wlw wlw

z(1+22)%% +c


https://dl.doubtnut.com/l/_trAWZnW9Cjd8
https://dl.doubtnut.com/l/_M0FIBXToYDz5

2
D.%\/1+m2+%x2log‘x—l—\/1-|—:1:2‘—|—c

Answer: A

o Watch Video Solution

w
w |-

(z - <)

42.The value of the integral dx is:

wh
—_
8
N

A.6

B.O

C.3

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_M0FIBXToYDz5
https://dl.doubtnut.com/l/_8nI2E7jF4aEn
https://dl.doubtnut.com/l/_UUFIgU7z3xHP

43.1f f(z) = / tsintdt, then f'(z) is
0

A.cosx + xsinz
B.zsinx
C.xcosx

D.sinx + x cosx

Answer: B

° Watch Video Solution

71'/2 4 .
44.The value of/ log<m>daz is
0 4+ 3cosz

A2

C.0


https://dl.doubtnut.com/l/_UUFIgU7z3xHP
https://dl.doubtnut.com/l/_OjTXih5ZAFtN

Answer: C

o Watch Video Solution

w/2
45.The value of/ (933 +zcosz + tan® = + 1)d:c is :
—7/2

AO

B.2

D.1

Answer: C

o Watch Video Solution

dzx )
46. [——  is equal to:
et e 7


https://dl.doubtnut.com/l/_OjTXih5ZAFtN
https://dl.doubtnut.com/l/_ewL4KPE1LShX
https://dl.doubtnut.com/l/_RBMP7z4cbblQ

A.tan"'(e®) + ¢
B.tan_l(e_w) +c
C. log(em - e_“’) +c

D. log(em + e_“’) +c

Answer: A

o Watch Video Solution

cos 2x )
47./ 5 dx is equal to:
(sinz + cos z)

-1
A — +c
sinx + cosx

B.log|sinx + cos z| + ¢

C.log|sinz — cosz| + ¢

1
D. +c

(sinz + cosz)?



https://dl.doubtnut.com/l/_RBMP7z4cbblQ
https://dl.doubtnut.com/l/_XIIhXsLu4fy9

Answer: B

o Watch Video Solution

b
48.If f(a + b — x) = f(x), then / z f(z)dz is equal to:

CL+b/ f(b—x)dz
a+€/fw+me
b
C. b;a ) f(z)dx
b
[ fe)a
Answer: D

° Watch Video Solution

L 221 ,
49, The value of tan — )dz is:
0 142 — 2


https://dl.doubtnut.com/l/_XIIhXsLu4fy9
https://dl.doubtnut.com/l/_KyUfysTVZSJp
https://dl.doubtnut.com/l/_GKkzKaExN8FU

Al

Answer: B

o Watch Video Solution

1
50. /ﬁdaz equals
a* —x

A. log +c

a-+x

1
B. —. log
a

a—x

a-+x

D. None of these

Answer: C


https://dl.doubtnut.com/l/_GKkzKaExN8FU
https://dl.doubtnut.com/l/_GEOOMiaaEX0L

o Watch Video Solution

1
51. /—daz equals
a2 — 22

A.sin ! (2) +c
T

B.sin ! (E) +c
a

a
C.log';‘ch

D. None of these

Answer: B

o Watch Video Solution

1
52, /—da: equals
72 — g2

a+t+x

1
A zlog ‘ +c

a—T


https://dl.doubtnut.com/l/_GEOOMiaaEX0L
https://dl.doubtnut.com/l/_o688o6dN2vdr
https://dl.doubtnut.com/l/_ds67gVsZCu8k

T+ a
T —a

+c

Bll
- 5 108

T —a
T+ a

Cll
- 5 108

+c

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ds67gVsZCu8k

